

Pay Estimate Created Date: August 5, 2024

Progress 6	Estimate Number	Contract ID Prime Contractor		0-F06 , Inc. dba K.J. Un uction Co.	nerstall	Pay Period Start Pay Period End	May 16, 202 August 1, 2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$373,840.00 (\$2,189.11) \$371,650.89		
Approval Date									By User		
August 5, 2024			Ge	enerated and Ap	proved (and s	should be considered	Draft) at the P	roject Office Level by	Aubucj		
August 5, 2024			Review	ved and Approve	ed (and shoul	d be considered Draft) at the Reside	ent Engineer Level by	BAUERD1		
August 6, 2024				Re	viewed and A	Approved at the Centr	al Office Contr	ollers Office Level by	ramses1		
Original Comp	letion Dat	te Curre	ent Comp	pletion Date	Actual (Completion Date	% of Current Contract Amount Complet				
September	27, 2024	Se	September 27, 2024			May 10, 2024 100.00%					
	Co	ntract Informat	ional Da	tes		Mileston	es				
Date Descript	ion Or	iginal Completi	ginal Completion Date Current Comp			No Milestones Exist	for Contract				
Acceptance Date											
Awarded Date	No	vember 1, 2023		November 1, 20	023						
Letting Date	Oc	tober 20, 2023		October 20, 202	23						
Notice to Proceed	Date De	cember 4, 2023		December 4, 2023							
Open to Traffic Da	ate										
Work Began Date	Ма	arch 4, 2024		March 4, 2024							

Contract Total Pay	For Estimate No.	6							
			This Estimate		Previous	S	To Date		
231020-F06	\$2,388.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$369,26 \$0.00 \$2,208.5 \$0.00 \$0.00 \$0.00 \$371,47	53	\$371,650.90 \$0.00 \$2,208.53 \$0.00 \$0.00 \$0.00 \$373,859.43				
Contract Total Paya		ə:	\$2,388.15						
ems Paid This Estir	<u>nate Period</u>								
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
JSL0017	0170	6181000	MOBILIZATION	LS	\$39,802.490	0.06	\$2,388.1		
Project JSL0017 -	Fotal						\$2,388.15		
Overall - Total							\$2,388.1		
ontract Adjustment	s This Estimate								
lo Contract Adjustme	nts Exist on Contra	act							
<u>ine Item Adjustmen</u>	ts This Estimate								

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information													
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work									
JSL0017	FAF-141-1 (55)	Drainage improvements	141	ST LOUIS	south of Casino Center	south of Casino Center Drive								
Totals by Job Numbers														
JSL0017		l Item Pay Item Adjustmen	ts <mark>Gross It</mark> e	em Pay	This Estimate \$2,388.15 \$0.00 \$2,388.15	Previous \$369,262.75 \$0.00 \$369,262.75	To Date \$371,650.90 \$0.00 \$371,650.90							
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$2,208.53 \$0.00 \$0.00 \$0.00	\$2,208.53 \$0.00 \$0.00 \$0.00							



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project	Category	Line	Item	eport Generated date and can differ from the posted amo Description	Bid	Net	Total	Unit	Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.		No.	Code		Quantity	Change Order	Current Quantity		Posted Approved Qty		To Date (See report generated date)
231020-F06	JSL0017	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$15,820.00	\$15,820.00
		0001	0020	2063000	CLASS 3 EXCAVATION	122.00	0.00	122.00	CUYD	122.00	\$45.00	\$5,490.00
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	124.00	0.00	124.00	SQYD	124.00	\$11.00	\$1,364.00
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	258.00	24.00	282.00	SQYD	282.00	\$13.00	\$3,666.00
		0001	0050	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	163.60	55.50	219.10	TONS	219.10	\$336.00	\$73,617.60
		0001	0060	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRTE PAVEMENT	182.00	251.00	433.00	GAL	433.00	\$4.60	\$1,991.80
		0001	0070	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	257.80	26.30	284.10	SQYD	284.10	\$115.00	\$32,671.50
		0001	0080	6044011	PIPE COLLAR, TYPE A	1.00	-1.00	0.00	EA	0.00	\$2,000.00	\$0.00
		0001	0090	6081000	CONCRETE MEDIAN	117.20	0.00	117.20	SQYD	117.20	\$185.00	\$21,682.00
		0001	0100	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$2,781.00	\$5,562.00
		0001	0110	6122020	REPLACEMENT SAND BARREL	9.00	-9.00	0.00	EA	0.00	\$542.00	\$0.00
		0001	0120	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	-1.00	2.00	EA	2.00	\$2,500.00	\$5,000.00
	0001 0130 6141120				CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X 600MM)	5.00	0.00	5.00	EA	5.00	\$500.00	\$2,500.00
		0001	0140	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$22,950.00	\$22,950.00
		0001	0150	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN	2.00	0.00	2.00	EA	2.00	\$3,200.00	\$6,400.00
		0001	0160	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	875.00	75.00	950.00	LF	950.00	\$33.29	\$31,625.50
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$39,802.49	\$39,802.49
		0001	0180	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	94.00	-28.00	66.00	LF	66.00	\$7.00	\$462.00
		0001	0190	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	56.00	-56.00	0.00	LF	0.00	\$12.00	\$0.00
		0001	0200	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	69.00	133.00	202.00	LF	202.00	\$20.00	\$4,040.00
		0001	0210	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	13.00	-6.00	7.00	EA	7.00	\$300.00	\$2,100.00
		0001	0220	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,613.00	-1,152.00	3,461.00	LF	3,461.00	\$1.00	\$3,461.00
		0001	0230	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		-840.00	1,090.00	LF	1,090.00	\$1.00	\$1,090.00
		0001	0240	6207001	PAVEMENT MARKING REMOVAL	546.00	96.00	642.00	LF	642.00	\$5.00	\$3,210.00
		0001	0250	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	13.00	-6.00	7.00	EA	7.00	\$100.00	\$700.00
		0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,210.00	232.00	1,442.00	SQYD	1,442.00	\$12.50	\$18,025.00
		0001	0270	6229905	MISC.COLDMILLING BITUMINOUS PAVEMENT WITH ADDITIONAL CLEANING	1,209.70	-1,209.70	0.00	SQYD	0.00	\$15.15	\$0.00
		0001	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.00
		0001	0290	7261015	15 IN. PIPE GROUP A	275.00	0.00	275.00	LF	275.00	\$160.00	\$44,000.00
		0001	0300	7311022	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	15.00	0.00	15.00	FT	15.00	\$1,100.00	\$16,500.00
		0040	0310	9031010	CONCRETE FOOTINGS, EMBEDDED	0.30	-0.30	0.00	CUYD	0.00	\$3,000.00	\$0.00
		0040	0320	9031220	PIPE POSTS	170.00	0.00	170.00	LB	170.00	\$8.00	\$1,360.00
		0040	0330	9035004A	SH-FLAT SHEET	14.00	0.00	14.00	SQFT	14.00	\$40.00	\$560.00
	Project J	SL0017 - T	otal Value	e Posted to D	Date as of Report Generated Date							\$371,650.89
231020-F06 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$371,650.89



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	JSL0017	7									
Line Number	Item Code	Description		DWR Approval Date		Units	Location		Offset/ Distance	Offset/ Distance	Comments
0170	6181000	MOBILIZATION	7/24/24	7/25/24	0.06	LS	NB/SB Route 141 @ Casino Center Drive	0			Remainder of Mobilization Owed

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 231020-F06

	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
JSL0017 C	0040	TYPE 5 AGGREGATE FOR BASE (6	Material		1	Mar 18, 2024	SYSTEM	\$3,354.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user aubucj overridding Payment Estimate Exception 1 on the current Payment Estimate.						
		IN. THICK)			1	Mar 18, 2024	SYSTEM	(\$3,354.00)							
					2	Apr 3, 2024	SYSTEM	\$3,354.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user aubucj overridding Payment Estimate Exception 1 on the current Payment Estimate.						
					2	Apr 2, 2024	SYSTEM	(\$3,354.00)							
				- Total				\$0.00							
			Material - To	otal				\$0.00							
9	0040 -	Total						\$0.00							
C	0070	CONCRETE PAVEMENT (10 IN. NON-	Material		2	Apr 3, 2024	SYSTEM	\$29,647.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user aubucj overridding Payment Estimate Exception 3 on the current Payment Estimate.						
		REINFORCED			2	Apr 2, 2024	SYSTEM	(\$29,647.00)							
					3	Apr 17, 2024	SYSTEM	\$29,647.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user aubucj overridding Payment Estimate Exception 1 on the current Payment Estimate.						
					3	Apr 17, 2024	SYSTEM	(\$29,647.00)							
				- Total				\$0.00							
			Material - To	otal				\$0.00							
q	0070 -	Total						\$0.00							
C	0290	15 IN. PIPE GROUP A	Material		1	Mar 18, 2024	SYSTEM	\$44,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user aubucj overridding Payment Estimate Exception 3 on the current Payment Estimate.						
					1	Mar 18, 2024	SYSTEM	(\$44,000.00)							
										2	Apr 3, 2024	SYSTEM	\$44,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user aubucj overridding Payment Estimate Exception 7 on the current Payment Estimate.	
					2	Apr 2, 2024	SYSTEM	(\$44,000.00)							
										4	May 1, 2024	SYSTEM	\$44,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user aubucj overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					4	May 1, 2024	SYSTEM	(\$44,000.00)							
											5	May 16, 2024	SYSTEM	\$44,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user aubucj overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 16, 2024	SYSTEM	(\$44,000.00)							
								\$0.00							
				- Total											
			Material - Te					\$0.00							
C	0290 -	· Total	Material - To					\$0.00 \$0.00							
	0290 - 0320	Total PIPE POSTS	Material - To		3	Apr 17, 2024	SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user aubucj overridding Payment Estimate Exception 5 on the current Payment Estimate.						
					3 3		SYSTEM	\$0.00	Estimate Item Adjustment (0002) due to user aubucj overridding Payment						
						2024 Apr 17,		\$0.00 \$1,360.00	Estimate Item Adjustment (0002) due to user aubucj overridding Payment						
				otal - Total		2024 Apr 17,		\$0.00 \$1,360.00 (\$1,360.00)	Estimate Item Adjustment (0002) due to user aubucj overridding Payment						
C	0320		Material	otal - Total		2024 Apr 17,		\$0.00 \$1,360.00 (\$1,360.00) \$0.00	Estimate Item Adjustment (0002) due to user aubucj overridding Payment						
C	0320 0320 -	PIPE POSTS	Material	otal - Total		2024 Apr 17,		\$0.00 \$1,360.00 (\$1,360.00) \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user aubucj overridding Payment						



Contract Adjustments for Contract - 231020-F06

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
4	JSL0017	Incentive	TSR	\$2,208.53	100	May 1, 2024	Aubucj	Mixed was placed on April 8, 2024.
								Produced By: New Frontier Materials - North Asphalt BG Facility Mix Design: SP125CLP 23-18 PG64-22H Virgin Asphalt: 5.2% 219.10 Tons accepted
4 - Total					\$2,208.53			
Overall - Total					\$2,208.53			